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| 944,000
= 190,000
201 Ler2g | 30,000 175,000 2 145,000
Il 30,000
01 AR 2teld| 25,000 20,000 5,000
Ostdl B Al 25,000
| 25,000
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01 Al&H] 1,297,848 1,993, 178 £695,330
ORE 2354 OIAR HML)| 134,100
| 134,100
OHO+HNN =2 2T F 89,200
| 89,200
ODHE~CI L2t OtAR M L)) 134,100
| 134,100
O Z Bi4+2 Fuit) 134,100

- 570 -




A XS EH
g MO MY MO AL

& JI%II%M%(%@—’F—EII&?I%M%) (&2 &)
S HH O (3H) - NBAY - B2 Of) &F o8 glggf; H D=2
Jl 134,100
Odles 2 & & 89,200
Il 89,200
OR3 s & 89,200
J| 89,200
OAEtdE MY 2 Mz LE 178,800
J| 178,800
OEMEH MLH 285 TH 44,600
J| 44,600
Odats&3st A 297,900
J| 297,900
SENCHUP A5 ABE N (NEo2A
s) 87,000
J| 87,000
Ostia &3 JH| 19,648
03 Al 20HYI 8,800 8,822 NP2
Ox2& 283846 0tAE TN 900
J| 900
O&D~EX2 &8 s E 800
Dl 800
O =~EA2E OIAE TN R 900
| 900
OHdE =2 &l 900
J| 900
Ooles s2 L& 800
Dl 800
ORsE sz & 800
D) 800
OAEd MY Y AT ZTF 1,200
J| 1,200
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01 0IZtEAt2 700,000 0 700,000
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